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Dramaturgy was
propounded by

(A) H. Garfinkel
(C) Cicourel

(B) Erving Goffman
(D) Alfred Schutz

Choose the correct matching pairs from the
following :

1. Talcott Parsons
2. B. Malinowski
3. Jeffrey Alexander

Neo-functionalism

1. (@R00f dgrosd) BSTGolod

(A) 5. mncES
(C) >0

(B) 30500 mHsns
(D) &6 2063

. 52 (300 T3 e3BHRGWoc

. QA3»® @?653%50 1. erdsees @1’6‘05‘0
Il eadd 2. 8. %003,

1. oy Joabendy 3. & edpocd

IV. Individual 4. R.K.Merton
_ , V... S3018 FS°Cgrcso 4. 03,2085
functionalism ©
TR v
A1 3 4 2 A1 3 4 2
B2 1 3 4 B2 1 3 4
C4 1 2 3 €4 1 23
D)3 4 1 2 D3 4 1 2
3. Findthe correct match of perspectives with . Eob oo T3 S0 TSR0 BBEE0s
the concepts that are central to them.
a. Structuralism 1. Life World a. @58%e0 1. 8555,
b. Phenomenology 2. Accounting b. SoRoTred 2 w20¢30h
c. Ethnomethodology 3. Impression
% Mapnagement c. IS PoETREl 3. 30 w0
d. Dramaturgy 4. Deconstruction d. E@%0e) 4. %§S@§S
a b c d a b c d
(A)2. 4 3 1 A)2 4 3 1
B1 3 4 2 B 1 3 4 2
4 1 2 3
4 1 2 3
d)ys 2 1 4
d)ys 2 1 4
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4,

Given below are two statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Husserl is the father of
Phenomenology.

: He held that certainties
are questionable.

Which of the following is the correct answer ?
(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Reason (R)

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : According to
phenomenologists, the
acquisition of knowledge
takes place basically
during childhood.

: The natural elements
found in the environment
and the social elements
created by culture form
the stock of knowledge.

Which of the following is the correct
answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and Rare wrong

Reason (R)

4. o5 7S Boco TS a8l EITEH(A),

BoERd rao) (R)

BOPSH (A) 1 5P0b SyRgHeETeS
DTIITRCE

Poo (R) 1 J5B00) ©3HonEnEe ed
STAlviev Ryt

208 TIS° DB BEAD BRTEH0 ?
(A) A D82000,5°0 R &y

(B) A, RBocr 5003089

(C) A &%y, =20 R 20063008

(D) A, Roocr 83y

. 8o 3D Tow TS S .53 EITES (A),

BoEsd wesoy (R).
BOFES (A) 5 SOOI (HS°E0 e
RRTGHOT® @FETON

a?@zsoeﬁs 238008008

w0 (R) D DOSTE et e ST
500X DoPY,d QoD
TR 90T T AR
606T°00

E08 TIS° B [BAWD HITH0 ?

(A) A 0056,5°0 R &y

(B) A, RBocs 25003005

(C) A 35,50 R 200058

(D) A, Roocr &5y

. 0B ATTOBILLD IO AFoTeS BBIstod

6. tl?:gﬁ mi gﬁ;l:ct match of the theorists and a ofErh . m@é &5565

a. Althusser 1. Communicative Action b. trebard 2. R
b.-Habermas 2. Hegemony C. a0, 3. @edsdroso
c. Gramsci 3. Critical Theory d. «&%) 4. n&aress aaroso
d. Adorno 4. Ideological Theory a b ¢ d
REEE SRR
B2 3 1 4 B2 3 1 4
C)4 1 2 3 c4 1 2 3
b)y3 2 4 1 D)3 2 4 A1
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7.

Given below are two statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A): Ethnomethodologists
focus on how people make
sense of their activities.

Reason (R) : They study the common
sense methods used by
people to construct
Social Reality.

Which of the following is the correct

answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(

D) Both A and R are wrong

Given below are two statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : Foucault founded the
structuration perspective.

Reason (R) : He emphasized the
interconnection between

knowledge and power.

Which of the following is the correct
answer ?
(A) Adis correct but R is wrong

(B) Both A and R are correct
(C) Ais wrong but R is correct
(D) Both A and R are wrong

7. ol 305 Bockd TTE .53 RPSTS (A),

BoERd rso) (R)

BOFED (A) 1 55000 TO DO e
STV &R DREHOWES
DE R0 G
Eakrviet)

S5 (R) 1 D 55000 TRTRE T
DOEBTIS T SRS W)
GBIV OG5OIH0 WD

$08 TS B DO VTR0 ?

(A) A 306056, =0 R @y

B

)
(B) ‘A, R B0t 5803058
(C) A,z R 20056
(D)

D) A,R3os> )

8088 3D Bock TEd” .56l RPSTS (A),

BoERd rao) (R)

BOXES (A) 1 9rE ©QH0IS Sy
@(;i)owdo

e (R) P ez, B0 Sogk 1o oo
S8y, DT

€08 TIS° B ¥OAWD VTG0 ?

(A) A 20058, 3°0 R &%y

(B) A,Rocir 86305

(C) A a3y, 52 R30ass

(D) A,RBocir &y
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9. Given below are two statements, one 9. ots 3D Tockd TTE .53 RPSTS (A),

labeled as Assertion (A) and the other Bocnd e (R)

labeled as Reason (R).

Assertion (A) : Phenomenology analyses BOFED (A) 1 TErESTRN0 IO SrHAE
how social reality comes 500£23065:) CHIET0 27503
into existence. BT

Reason (R) : Ethnomethodology holds w0 (R) D RSOPEE RS0 K000 &8
the view that there is a €:0E005 DT RGO
social reality already in B9
existence.

(: < <

Which one of the following is correct ? 00 TG I8 PO ST 9

(A) Ais correct but R is wrong (A) A8aps6, 5-R 85y

(B) Both A and R are correct (B) A,RBocis 580308

(C) Ais wrong but R is correct (C) A2y, 520 R30ass

(D) Both A and R are wrong (D) A,RToc> &5y

10. Man becomes more and .more gnslaved 10 5052, 500 5505 S BT 576, 3
to the level of a commodity, which Marx / ®
0T ?

calls

(A) Pauperization (A) S80S

(B) Alienation (B) ‘@omidg00

(C) Proletarianization (C) FaE3000EIS

(D) Cut throat competition (D) S50 Fed

11. In Modern Capitalist Societies we are all | 11, «ese5508 2RRETD VSTEOE 5o5B006580
vulnerable to distorted communication. 5850000 IRrTTO8 ST Ey 92 2N aTID 2
Who said it ? A Ee —

> t e 9

(A) Habermas (B) Gramsci (A) wratsss B) ooy

(C) Althusser (D) Marx (C) edirsd (D) By

12. Louis Althusser is founder of 12. 070000 06530 Tholso

(A) Marxian structuralism (A) 5770y, 3008 5500

(B) Structuration (B) @508

(C) Marxism (C) 50y 325
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13.

14.

15.

16.

Identify the four dimensions that Giddens
calls as dimensions of modernization

among the following :
1. Capitalism 2. Surveillance

3. Industrialism 4. Communication
5. Military power
(A) 1,2,4,5

(C) 1,8,4,5

(B) 2,3,4,5
(D) 1,2,8,5

Arrange the following in chronological

order in which they were implemented

1. Swarna-Jayanthi Gram Swarojgar
Yojana

2. National Rural Employment

Guarantee Scheme
3. National Social Assistance Programme
4. Pradhan Mantri Gram Sadak Yojana
(A) 1,4,3and 2 (B) 3,2,4and 1
(C) 4,3,2and 1 (D) 2,4,1and 3

Who is the father of criminology ?
(A) Lombroso

(C) Perri

(B) Baccaria

(D) Healy

Longevity reflects the following in the
Human Development Index.

(A) Health and Nutrition
(B) Living standard

(C) Infant mortality
(D)

D) Purchasing power

13.

14.

15.

16.

5 o0 TE ATy DU T e3¢HIETE?
GRS A 2

1. 2eedad DGO 2. R

3. JOEWES 4. E507gI80S
5. R0

(A) 1,2,4,5 (B) 2,8,4,5
(C) 1,3,4,5 (D) 1,2,3,5

B4 1208 IGO0 @) 95000 HES (550088

htleletnleter
1. /5800008 [ B0 20 Aresd
2. 2RHON [P eI TE DT
3. erdialb TRTRE D5PAb &R0
4. SEPSR00E 50 08 e
(A) 1,4, 3,582 (B) 3,2, 4,500 1

(C) 4, 3,250 1 (D) 2,4, 158050 3

28 TS DTHOTVCED 0 2

(A) eroE’F (B) 257,000
(C) »© (D) ¥>®
SISS PG SrIESD bPTe S550 DY

@08 ?
(A) 80 Ho0ab FRstto
(B) 28:5% %oeero

(C)

(D) Sxoffensd

P& SoveTR0
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17.

18.

19.

Given below are two statements, one

labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : In  India, people
belonging to the lower
classes have a higher
fertility rate than those
from the upper classes.

Reason (R) : The poor people cannot
afford to buy
contraceptives.

Which of the following is the correct

answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both A and R are true but R is not the
correct explanation

(C) Aistrue but R is false
(D) Ais false but R is true

Find the Correct Match :

a. Malthus I. Geometric Ratio

b. Notestein Il. Intermediate
variables

c. Kingsley Davis lll. Demographic
transition

(A) a=Il,b—Illland c—1

(B) a=Illl,b—Ilandc—1

(C) a-1,b—Illandc—Ill

(D) a=I,b=Illlandc—II

Identify the correct order in which the
following took place :

l. Indian Population Census
IIl. England Population Census
lll.  USA Population Census
(A) I, land 1l (B) I, lland I
(C) I, Mandl (D) NI, lland |

17.

18.

19.

8ocs gD Boc TSRS’ esed EETES (A),
BoERd rao) (R)

BOXES () aroBdFed” $od ST e

DOAD T B -DTOH
30O TOL0ET. ALy
TP SORETND

509 (R) D GBS S ED

S0P e

$08 TS B DOAS HITH0 ?

(A) A RBocr 505 S08ak R 580308 2558
(B) A, RBocsr 505, %0 R 505 2558 5260
(C) A 530 20 R &y
(D) Aoy 5 Risg0e

EIBHEH0C

a. 5ol l. 2520138 O3

b. SaQS00mandy . Bog30ns BET7es
C. 20fi® BT ARSIl esmrer B85S0
(A)a—Il, b—1llso8axo ¢ — |
a—Ill,b—1l58c50c—|
a—1I,b—Il%8coc—Il

D) a—I,b—-1Ill%8coc—1l
52 ($08 23dEaden BORS (§X50°) MOQ0WN0G.
. eroSa esdiend
Il.  orrociy 0% esdneasd
N O0.0.0. esdnessd
(A) 1, 508 (B) 1, H'5o80%s I
(C) I, Mx0sex | (D) I, 1508050 |

L
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20.

21,

22.

23.

Sanskritization is ___ source of
change.

(A) an exogenous (B) anendogenous
(C) cultural (D) terrestrial

The analysis of Indian Social change from

Marxian Dialectic perspective was made
by

(A) D.P. Mukheriji

(B) R.K. Mukherjee

(C) T.K. Oomen

(D) Yogendra Singh

“Indian Nationalism is a product of
material conditions” created by the British
colonialism”. Who said this ?

(A) D.P. Mukherji  (B) M.N. Srinivas
(C) S.C. Dube (D) A.R. Desai

Find the correct sequence in which the

following made systematic study on rural

India.

(A) N.K.Bose, D.N. Majumdar, M.N. Srinivas
and S.C. Dube

(B) D.N.Majumdar, M.N. Srinivas, N.K. Bose
and S.C. Dube

(C) D.N.Majumdar, N.K. Bose, S.C. Dube
and M.N. Srinivas

(D) S.C.Dube, N.K: Bose, D.N. Majumdar
and M.N. Srinivas

20.

21,

22.

23.

VTORNE et BIPE%0 BoreBa
(A) 2.5 I8=D (B) 2.8 0& 355
(C) Froxp®s (D) Ry
B0°0), JO0S AHTE)E EyHE0 5000 FrIBad
TRTRE B0 Aot
(A) &.2. 529
B) «63. mogpé
¢33, &8208

(B)
(C)
(D) caRoles 2oh

2B a0l 2750 3B 508 50 OV
DRONE HORBS HOES) BT IS0 DI ?

(A) &3 S (B) 00.05.89=5
(C) 5.5, w8 (D) 2.e55. Bz

53 (€08 O (TP erSBBFoR T

O A0 eFS S0 eTone K5Ee3E”

OB0WOG.

(A) ISR, &.2S8.S0er0md, 0X00.25.8IT0
$000X0 D0.2.¢3583

(B) &.8.50e50m°5, 1503, 3,050, DSB8,
$000X0 D0.2.¢3583

(C) &.285. Soerored, IS52.85%0, JR.%. o8,
QX0.2%. @33"5

(D) JR.2. 5083, ASB.5D, &.25. Soerored,
S0800 A00.dR. B,V

24. Singer and Marriott Primary used which | 24. ETOBLEOS ) THIRE HOITHB INOREIE
of the following concepts to explain social 20N, HO0KES TN T THHOR0 &3
change in India ? 0B TIS’ MHBoBod

1. Little Tradition 1. %0y TroEscraio

2. Westernization 2. TTNBEe

3. Great Tradition 3. &S JroEtrako

4. Modernity Continuum 4. 5655 50e35050000

5. Modernization 5. estnddsses
(A) 1and 3 (B) 2,4 and 5 (A) 1 20000 3 (B) 2, 4 550050 5
(C) 1,2 and 4 (D) 1,2,3,4and 5 (C) 1,2508a4 (D) 1,2,3,4580%5
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25.

26.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) :India’s sex ratio is
favourable to females.
Reason (R) : India has made a lot of

legislation favourable to
women.

Which of the following is the correct
answer ?

(A) Both A and R are true and R is the
correct explanation

(B) Both A and R are true, but R is not the
correct explanation

(C) Aistrue but R is false
(D) Ais false but R is true

The number of children born to 1000
population in one year is known as
(A) Fertility rate

25.

26.

8ocs gD Boc TSRS’ esed BEETES (A),
BoERd rao) (R)

BOFEH(A) 1 erOBDF SN Qoo
I0EPOOTT 608

809 (R) D POBOE0 QK BRIKTOON
TP eTe0 Dol

€08 TIS° B DO WITF0 ?
(A) A RBocr S5 550050 R 886300 2558
(B) A,RO0cr 80605, 520 R 580 2588 57¢h
(C) A3356 520 R &y

(D) A&y = R050

1000 5000 &g el Do0EUos” HEFLYO
oS> D500 ?

(A) 58060

_ (B) 500852255 Gew
(B) Crude birth rate. ©) még@@é@ﬁgm
(C) Crude reproduction rate (D) Srcres rosEBen
(D) General fertility rate
27. Find the correct match by identifying th 27. 5200 é;ﬁrm@ége)mm& egaRo B
Yy ying the
sociologist and the village they studied. PRI sEREHoG.
a. M.N. Srinivas i. Shamirpet a. oo, FITH I 50055
b. Andre Beteille ii. Rampura b. o a@d ii. oo
c./S.C. Dube iii. Kishan Garhi c. 2T i, 35S 00
d. Mc Kim Marriott  iv. Sripuram d. 2085 8r0a0ed V. B9oo
(A) a—ii, b—iii,c—iv, d—i (A) a—ii,b—iii,c—iv, d—i
(B) a—iv, b—ii,c—i,d—ii (B) a—iv, b—ii,c—i,d—ii
(C) a-i,b—iii,c—iv,d—ii (C) a—i,b—iii,c—iv,d—ii
(D) a—ii,b—iv,c—i, d—ii (D) a—ii,b—iv,c—i, d—ii
|l 10 A-22-03 |




28.

29.

30.

31.

Findout the sequence in which the following
Acts pertaining to women were passed.
1. Immoral Traffick (Prevention) Act
2. Child Marriage Restraint Act
3. The Dowry Prohibition Act
4. The Protection of women from
Domestic Violence Act
(A) 1,3,2and 4 (B) 8,1,4,and 2
(C) 2,1,3,and 4 (D) 1,4,3,and 2

Which of the following are the followers of
Demographic transition theory ?
|. Dalton [l. Thomson
lIl. Notestein IV. Blacker

(A) 1I, llland IV (B) 1,11, llland IV
(C) I, llland IV (D) 1, lland Ill

Which of the following is true of the post
transition stage of Demographic transition ?

l. High birth rates Il. High death rates
lll. Low birth rates IV. Low death rates
(A) land i (B) land IV
(C) Mand IV (D) lland Il

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : According to the Indian
Census Act, 1948, it is
not -mandatory for all
persons in India to
answer the census
questions truthfully.

: The information given to
the census enumerators
cannot be used as
evidence in courts of law.

Reason (R)

Which of the following is the correct answer ?
(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

28.

29.

30.

31.

PO $080H0ND Ba G0l BeTe 8 GHBR
E3008° H80%0S

1. gareerds (AE°EE) e

2. erogTir AT B0

3. 508y Jag o

4. KyIroR B00d Qo SFE $910%0 B8
(A) 1,3,2 508am0 4 (B) 3,1, 4, S5005m02
(C) 2,1, 3, 508ax» 4 (D) 1,4, 3, 50002

59 300 TOE” IO wTHe DRGT DT Y
00000 0 ?

l. mgS Il orsods

lll. S&3S IV. ersb
(A) 11, 111558055 1V (B) 1, 1, 508 IV
(C) LXsgcxo IV (D) I, Hodcxo

59 (800 FIE° DI exrer HOBGT HFoBo
BOBTD BETH (555 SOT000.

| 005 esTn oty |l ©dstsere den
lll. vy o Bty V. woytodere Bey

(A) 1508050 |1 (B) | 5080 IV
(C) Nisoseo IV (D) 58050 Il

8ocs g0 Bock TSRS’ a8 BEETES (A),
BoERd rao) (R)

BSOS (A) 1 grodab aiead 160 1948,
©5°50 erdS80FoS” &)
@005 5000 esdEadE” edh
O JeRP0 SO0
B0

D eSIER0 SRITERo DSBour08
iy ST AT
TN TS

85 (R)

€08 TIS° B [OAWD HITH0 ?
(A) A 20058, 3°0 R &%y

(B) A,R oo 586305

(C) A a3y, 520 R30a8s

(D) A,RBocr &y

| it
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32.

33.

34.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Malthus published an
essay proposing his
theory of population in
1798 anonymously.

: He was favourable to the
use of contraceptives.
Which of the following is the correct

answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Reason (R)

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : Indian population census
is a union subject.
Reason (R) : Itis underthe Ministry of

Human Resources.

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Given below are two_statements, one

labelled as Assertion (A) and the other as

Reason (R).

Assertion (A) : The Hindu Marriage Act
was passed in 1955.

: The Act enforces
permitting Judicial
separation and divorce
among Indian Citizens.

Which of the following is the correct

answer ?

(A) Ais correct but R is wrong
) Both A and R are correct

(B
(C) Aiis wrong but R is correct
(D) Both A and R are wrong

Reason (R)

32.

33.

34.

8ocs g0 Bock TSRS’ a8 EETES (A),
BoERd rao) (R)

BOFES (A) 1 wTEr MroT) BHT RS

Z§J°®:O1798 & e 5"531’8’)&
0363?3@ PEE0TE (@F D

8o (R) 1 Ay A8 Esrese TEsI8

B0 WROETOON GINCED
E08 TIS° B [OAWD VTG0 ?
(A) A D005, %0 R &%y
(B) A,RBocsr 500309
(C) Ay, 520 RS8A50
(D) A,RBo 85y

Sods ai’bé VOC TS o8° 2,53 SIS (A),
Bocsd sy (R)

50T (A)
&0 (R)

1 5SSO 23died 2ol e90%0

HESTARS VLV POV SRV R
es635508° &0l

€08 T°IS° DB [OW VTG0 ?

(A) A 005,20 R &%y

(B) A,RBocsr 5003059

(C) Ay, 520 R3Oa8s

(D) A,Rocior &y

Eocs aﬁbé Boc TSeE” a8 EETES (A),

BoeEHd e (R)

BOFES (A) 1 rosr darriigyo, 1955
(oosﬁééodoé's @sﬁoeoé'sfi)é

SNV

I e 380 (D5°C0 gok Ay
@weﬁ% DG TN
250055 TR0 PO
e ¥yoioo

E08 TIS° B [OAWD HITH0 ?
(A) A D005, %0 R &%y

(B) A R0 86305

(C) Ay, 52 R3Oa8s

(D) A,RBocr &y

85 (R)

L
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35.

36.

Choose the traditional values from the list
given below

1. Achievement 2. Particularism

3. Collectivism 4. Universalism

5. Individualism 6. Ascription
(A) 1,3and 6 (B) 8,4and5
(C) 2,4and 6 (D) 2,3 and 6
Match the following tribes by the States
they live in
a. Khasi Gharo and 1. Bihar and

Naga West Bengal
b. Meena and Bhils 2. Tamil Nadu
c. Santhals and Munda 3. Rajasthan
d. Toda and Kota 4. North East
States

A) a-2,b-3,c-4,d-1
B) a-3,b-1,c-4,d-2
C) a-4,b-3,c-1,d-2

(
(
(
(D) a-1,b-2,¢-3,d-4

35.

36.

8063 FYO T3S oAb Jeuseds Moo
1. JGotieo 2. (HBEH0
3. BuPoceo 4. JEesdoHo
5. Dands® B. wS V5w

(A) 1,3508a06  (B) 3, 4 508a 5

(C) 2,4586c506 (D) 2,3 50860506

005 F3R0% B30 T IR TRLE e HAbod

a. b 2078 50000 T (1, D55 So8ax
2R dorrd

b. oo Sod0k ) 2. BT

C. dozrdyRbakw o 3. U"es@;S

d. §¢ 508a0s 8% 4. BeFig TR

(A) a-2,b-3,c-4,d-1

(B) a-3,b-1,c-4,d-2

(C) a-4,b-3,c-1,d-2

(D) a-1,b-2, c- 3, d- 4

37. Match the following : 37./1E00 T aBdEBoG
a. Second shift  i. A barrier that prevents a. 220& 2565 i Solrden esyd aso
women from achieving B 55000 980
highest positions e I N
b. Glass ceiling ii. Men and women are b. 55 50ah . goo B D050
concentrated in Y08 DR HIND
different occupations c. Bocsd Qﬁaoﬁ iii. 3508 PSS HY
c. Gender Typing iii. The house work that 500 <§3 DO 0S
women have to do at the 206359 =
end of paid work. L L
(A) a-ii;b- i, c- i (B) a-iii, b- i, c- i (A) a-ii, b-1i, c-iii (B) a-iii, b- i, c-ii
(C) a-ii;b-iii,c-i (D) a-i, b-iii, c- i (C) a-ii, b-iii, c-i (D) a-i, b-ii, c- i
38. The emigration of highly skilled people | 38. @950 DO BT $00G B0 DDEIID
from the developing countries is known as EDAD 70 50 P00 DB00eTE 9
(A) Human capital wastage (A) 5505 0800 Hyo°
(B) Labour migration (B) @08 %00
(C) Brain drain (C) @ond Gows
(D) Productivity loss (D) ey %0
| 1t 13 A-22-03 |




39. Which. of the following refers to infant 39. 52200 T3 DB B Hodeross HID00 ?
mortality ?
(A) The death of children below the age (A) e.5es%) 3950 B850
of one month
(B) The death of children below the age (B) 5 058070 659 Fi0)0 50580
of 5 years
(C) The death of children below the age of (C) 6 2005y Fire $o580
6 months
(D) The death of children below the age (D) 2.8 5058 )508%) 350550 H08e90
of one year
« < S
40. Who identified eleven intermediate | 40- P07 B0 Do SEE ot Sakot oT o
variables affecting fertility ? A0 0GOS 2
(A) Davis and Blake (B) Goode (A) 55 OQEK, ) B) b
(C) Maclver (D) Moore (C) 208255 (D) 2656
41. Which of the following statements about | 41- Eéo& aﬁgé & méfgs AN Tgrged 3O
the following is the best answer ? ORGP0 BoHod.
l. Liberalization II. Privatization . 5695583 | SRS
lll. Globalization . .
(A) | and Il are strategies and Ill is an . gs0s5e
outcome of these stra_tegles . (A) 13508050 Il sgyegsies 5t 1115 500
(B) Il and Il are strategies and | is an
outcome of these strategies (B) 11508050 Il gyg5es =K | B9 13O0
(C) I and 1l are strategies and Il is an
outcome of these strategies (C) I3080ms Hlesind Hrgdfeo s I 263 500
(D) I, I and IIl are strategies as well as _
outcomes (D) 1, I'508cx0 1 ?QYD?SJSGJJ 00 POz
42. Which of the following are the reasons for | 42- wd@a%(o §G &85 Ao ©SeoonEs
India going in for the New Economic 5070 03 2
Policy ?
l. E00 (83085 @9
l. Heavy Government borrowings SOSRD BaoBs GRped
Il. Inefficient management of PSUs Il. @abEgson voge eshg Adgres
lIl.. Welfare of the employees of the
PSUs lll. e85 Sor oge dlood), %6%2(3@ oS00
IV. IMF and World Bank’s insistence on V. 1 ME 58085 15505 2708 oo, &
fulfilling the conditions if loans are to L > 0200 8750 i COETD
be given SRR DFB00H &0 0D
(A) LI IV B) L1, 1V (A) L 1L, 508000 IV (B) 1 11,558050 IV
(C) L1111 (D) 1, 11,1V (C) LI, S5o8amo il (D) 1, 11,5080 IV
| i1t 14 A-22-03 |




43. Which three of the following are often
regarded as characterizing globalization ?
l. Increasing space
IIl. Shrinking space
lll. Strengthening borders
IV. Shrinking time
V. Disappearing borders
(A) 1,1, 1v (B) L1, 1v
©) L v (D) 1,1V, V

44. The following term is used to describe the
increasing geographical relocation of
production processes on a global scale by
multinationals.

(A) Deep integration

(B) Hyper globalization

(C) Modularization

(D) Transformation

45. Caste linked economic relations are
called by different names in different parts
of the country. Find the correct match for

the following :

a. Maharashtra i. Adade

b. North India ii. Mirasi

c. Tamil Nadu iii. Bara Batute

d. Karnataka iv. Jajmani System

(A) a.iii, b. iv, c.ii; d. i

(B) a.iv, b.iii, c.i,.d. ii

(C) a.i, b.iv, c-iii, d. ii

(D) adii, b-iv, c. i, d. iii

46. The indigo peasant movement took place
in these places

43.

44,

45.

46.

S0NFEFD FTGEEIONT SIPD0w K0T O T :

. 2873 95 508

Il. SR &FRVE 508

lll. exeseiososy HOTeEes

IV. %0085 Py Ssoako

V. 5ransogBom) S05ses
(A) 11, 111, 508c5 IV (B) 1, 111, 208005 IV
(C) I, 1l,508ax0 IV (D) M1V, s00cks V

QTPOT K)OK@)@Q (DROV, TR0 DY,
BI80000 I BB DY V0D B¢0
(A) G553t

(B) 70 Fed@ns

(C) aTeaeo0dis

(D) ersbaons
SSURCERIsERVEVEIMCRS BFoS A

DroroS® SE¥SToon VoS Eod T¢I
2350

a. Sofory i oot

b. &8s erssndo i, Qoo

C. BAITE i, e e0eord

d. sreos V. OPesiioridy 55950

A) a.iii, b.iv, c.ii, d. i
B) a.iv, b.iii, c.i, d. i
C) a.i, b.iv, c.iii, d. ii
D) a.ii, b.iv, c. i, d. i

(
(
(
(

ROBENYO BHTBISH0 T DDy
@roTen

1. Pune 2. Champaran 1. e 2. Bosoee
3. Dharbhanga 4. Ahmadnagar 3. G 4. &350 510
(A) 1and 2 (B) 2and 3 (A) 1 200am» 2 (B) 2 208ak» 3
(C) 2and 4 (D) 1,2,3and 4 (C) 2506010 4 (D) 1,2, 3506050 4
| i 15 A-22-03 |




47.

48.

49.

Identify the books written by M.N. Srinivas

1. Religion and Society among Coorgs
of South India

2. Caste, Class and Power
3. Caste in Modern India
4. Cultural Change in India-Identity and

Globalization

(A) 1,2,3and 4 (B) 1and 3

(C) 1,2and 3 (D) 1,2and 4

Match the following organizations with

their founders

a. Brahmo Samaj 1. Vivekananda

b. Ramakrishna Mission 2. Dayananda

c. Prarthana Samaj 3. Rammohan Roy

d. Arya Samaj 4. Ram Balakrishna
Jayakar

(A) a-3,b-1,c-2,d-4
(B) a-2,b-1,c-4,d-3
(C) a-4,b-1,c-2,d-3
(D) a-3,b-1,c-4,d-2

Identify the features of the 73" Amendment

47. oo 738" MIN. BI50 S20dS (Togross

48.

hleleinleled
1. 088aDS wob el iroh 870y esd T8
[OCQL®
2. 59, O wok 56
3. R3S PGS ool
4. 558 ot 35 oGATr paotdd wobk
RogEad
(A) 1,2, 350005 4
(C) 1,2 558000 3

(B) 1 5000%53
(D) 1,2 208050 4

Eod NS DOPOBY DIOAK éoﬁ;?ﬁoe)éo

238 DGO

a. @SS 1, VoS

b. U"m%g\é’b&s 2. SOXPHo8

C. g PO 3. TR Tl

d. esSg T 4. oo erod
300%0

(A) a-3,b-1,c-2,d-4
(B) a-2,b-1,c-4,d-3
(C) a-4,b-1,c-2,d-3
(D) a-3,b-1,c-4,d-2

49. 73 35 D308 4o 1992 o) oFerody
1. It gave constitutional status to 1 Somond o S5 ool o
Panchayathi Raj 10208 ®
2. Reservation .of seats to SC’s,. ST’s 2. ETE0 HEE, DT BODH 5805
and women in Panchayat Raj é@é SomanSes® 8eidsiS HETano
3. Fixed tenure to Panchayathi Raj 2)ood
4. Took away the powerstoimpose taxes 3. HoTaN&0 00 B0 fOZé%oi)oc‘b
(A) 1,2,3and4 (B) 2,3and 4 4. 5290 B0V &Y SoRood
(C) 1,2and 3 (D) 1,3and 4 (A) 1,2,3208a04 (B) 2, 350000 4
50. Which of the following statements are (C) 1,220a03 (D) 1, 3200000 4
correct ? 50. 5 (200 T%3S° D OB ?
1. Delinquency involves violation of norms 1. eSO (S50 ST 5633 676 o0
2. Delinquency is applicable to only — TP PO
children below 18 years 2 SMUOCS o%z%é 18 ot &9 PO
3. Delinquency is characterized by 0800
deviant behaviour 3. N0PER0 e50°E [BRTHED 0200008
(é) 1,2and 3 (B) 1and 2 (A) 1,2508003  (B) 150000 2
2and 3 D) 1and3
(C) (D) (C) 2 %0805 3 (D) 1 50830 3
LG 16 A-22-03 |




51. Which of the following institutions are | 51. ereo 350 HXT0E0 56D &2 ($od T38°

formed to rehabilitate the Juvenile 2639 EDCIPATED 2

qle"ggl:t?fri]; Zchools 2. Bostal schools 1. Sggonk vmecs 2. FgdartTon

3. Open schools 4. Foster homes 3. TgdsETues 4. oY (bifes

(A) 1,2,3and4  (B) 2,3and 4 (A) 1,2,3and4  (B) 2,3and4

(C) 1,2 and 4 (D) 1,2 and 3 (C) 1,2and 4 (D) 1,2and3

52. Given below are two statements, one | 52. o 3y Socd sogoée;és 2563 (OIS (A),

labelled as Assertion (A) and the other as BoERd rao) (R)

Reason (R). . Y

Assertion (A) : Kate Millet is a radical BOJEH (A) 1 BeSWBeTeETESE 970
feminist. s . /)

Reason (R) : She argued that the —ep(R) @3&6°m®68@6°??®§§v@§’
superior physical strength DITOSTTE0  YSI®
of the male is the root D00 @) 520 TE0A
cause of male domination
in all spheres of life. 208 TS DB [OAS TG0 ?

Which is the correct answer ? (A) A,RBoc $5052 508050 R 006300 8

§A; Ais correct but R is wrong (B) 'A,RBocsr 505 , 50 R 508 5583 526

B) Both A and R are correct C) A S836 =8 R 55

(C) Ais wrong but R is correct (D) A ;‘3 S; = “60:;%)

(D) Both A and R are wrong (D) Agayp=a Rg

53. Find the correct match : 53. 50005 2505 SJoS%0d

a. Betty Friedon 1. Vindication of -

! the Rights of a. 23 pes 1. 20G30S e Bed
Women €59 RS

b. Mary Wolistonecraft 2. ;\I’/Ihe t.Feminine b. 300 205 &5 2. 6 S WyE

yS Ique £ £

c. Kate Millet 3. The Concept of C. ST gel 3. 05 ehsE

Cage d. 2085 @ 4. & 0508 70,

d. Marylin Frye 4. The sexual (A) a-4 b-1 c-3. d-2

Politics ’ ’ ’

(A) a-4,b-1,c-3,d-2 (B) a-2,b-1,c-3,d-4

(B) a-2,b-1,¢-3,d-4

(C) a'2,b'1,C'4,d'3 (C) a'2,b'1,C'4,d'3

(D) a-2,b-3,c-4,d-1 (D) a- 2, b-3,c-4, d- 1

54. Which of the following factors facilitate
deviance ? 54. J50B FooHer%d SE50e0 D 9
1. Faulty socialization 1. &% groooiRs Jsoredsses
2. Effective enforcement of norms 2. DOHHT® By HOEERD ICHOBE
3. Ineffective enforcement of sanctions 3 osm s © < :;
4. Consistency in the reward and ¢ DO EOZE o000
punishment 4. g@é 2TR0500%e05000 5080 %gsa AP0
(A) 1and 2 (B) 1,2and 3 (A) 1and 2 (B) 1,2and 3
(C) 1,2and 4 (D) 1and 3 (C) 1,2and 4 (D) 1and 3
[ 17 A-22-03 ]




55.

56.

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A): Lombroso is a positivist
who advocated a
biological explanation of
criminal behaviour.

Reason (R) : He held that criminality a

result of hereditary factor.

Which of the following is the correct
answer ?

(A) Ais correct but R is wrong

(B) Both A and R are correct

(C) Ais wrong but R is correct

(D) Both A and R are wrong

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The concept of Alienation
was introduced by Max
Weber.

: Alienation involves the
separation of the worker
from the product of his
labour.

Reason (R)

Which of the following is the correct
answer ?

(A) Ais correct but Ris wrong

(B) Both A and R are correct

(C) Aiswrong but R is correct

(D) Both A-.and R are wrong

55.

56.

8ocs g0 Bock TSRS’ esed BEETES (A),
BoEnd rao) (R)

BOPSH (A) 1 ool T ReINY, O
555 2.5 BF 080G

S BoT .

w8 (R) 1 (08 9505035550

O[T RP DINE.

€08 TIS° B ¥OAD HITTR0,2
(A) A 0058, 520 R &%y

(B) A R0t 566308

(C) Aoy, 50 R 8858

(D) A,RBocr &y

8ocs ZYS Bock SIS’ a8 BEETES (A),
B8 a0 (R)

BOFES (A) 1 POV G FTEER S

2200 (EHFeTE

sy (R) P D050 9063 SPBE B0

EPPoBoDD Z)CT’C@SZS:Q $00G
DB

€08 TIS° B [OAWD XTI ?
(A) A D005, %0 R &%y

(B) A R0 86305

(C) Ay, =2 R3Oass

(D) A,RBocr &y

57. 050008 ¥Gp& TTow, §YH) JET 000
57. Certified schools, Borstal and Foster 50800 DO A)TFed® HITHO ¥
homes are the institutions to rehabilitate 20T
(A) Women criminals (A) Sore open
(B) Terrorists (B) dparesoes
(C) Paupers (C) ooromey
(D) Juvenile Delinquents (D) ereddiipeo
|l 18 A-22-03 |




58. Who introduced the term ‘ecofeminism’ ? | 58, ‘5" :200es80’ esyrididido (5% 20638 T

(A) Carol J. Adam (A) =SS essSs

(B) Helen Aylon (B) 2585 worS

(®) Francmsg d’ Eaubonne (C) JroSanSe oS

(D) Judy Bari

(D) e~ erd
59. The Bill for “Protection of women against _ ) )

sexual harassment at workplace” | 39+ “@&ES R YS Iy, PHIG TSI

appeared in the year 58y, 200" Do) RSTRONDE HOSTTHD

(A) 2011 (B) 2010 (A) 2011 (B) 2010

(C) 2008 (D) 2009 (C) 2008 (D). 2009

60. Given below are two statements, one | gq B0c5 3Oy Bt wéeés 253 HOFSS (A),

labelled as Assertion (A) and the other as Ao S5 (R

Reason (R). © TE(R)

Assertion (A) : Talcott Parsons held that BOXES (A) :g)dozmm aS Qoo
men perform expressive e, 3 S0 )G 9@5 e
roleswhllewomen perform 3%@@63 35,5, eHS0
instrumental roles. =

) ) DTRe0.

Reason (R) : According to him @
biological division of s (R) D 000 (P5°So AE FSo
labor leads to gender Deyess Bowb SRS o6
roles. B

Q08

Which of the following is the correct

answer ? EoB TS’ DA ¥OAWD BBTG0 ?

(A) Both A and R are true and R is the _ _

correct explanation (A) A,RBocr 505 508ak0 R 206100 5683

(B) Both A and R are true but R is not the (B) A R0 3800, 520 R 580 588 57¢h

correct explanation _ 5 R s
(C) Ais true but R is false (C) Axgnd=dR &y
(D) Ais false but Ris true (D) A &y 50 Ri5g0e
61. Which is the most appropriate answer for o 5 -

what patriarchy refers to as per the 61. déﬁvﬁméo RO TR @S0 00 3D

feminists ? T3S

(A) Property is passed down from male

lineage (A) esR0E00E HBYHOT NGO
(B) Male dominance in the family (B) &momoeﬁs@c@(@gégéé
(C) Male dominance in all the institutions
of society (C) 2577e08° ey (QOJ’@@SB DSTEE
(D) Only male is regarded as the head of
the family (D) D050 STBo He02d D e o
| 19 A-22-03 |




62.

63.

64.

When work is external to the worker and
is simply imposed on him it leads to
(A) Deviance (B) Alienation

(C) Pauperization (D) Revolution

Given below are two statements, one
labelled as Assertion (A) and the other as
Reason (R).

Assertion (A) : The evolutionary model of
social development has
largely been abandoned
by sociologists.

Reason (R) : Social development

implies increase in
rationality.

Which one of the following is right ?

(A) Both A and R are true and R is the
correct explanation of A

(B) Both A and R are true but R is not the
correct explanation of A

(C) Ais false but R is true
(D) Aistrue but R is false

Match the following diseases by their

classification :

a. Vector borne disease 1. Measles

b. Waterborme disease 2. Tuberculosis

c. Respiratory disease 3. Diarrhea

d. Vaccine Preventable 4. Malaria
disease

(A) 1,4,2and 3

(C) 4,3,2and 1

(B) 4,1,3and 2
(D) 3,4,1and 2

62.

63.

64.

N A A
D> FROW[D @50 erTGHBoE B8k
@B DReEE0E @98 BIE 770 S0 ?
(A) dSos0 (B) o

(C) &mrododco (D) excsgioo

8ocs gD Boc TSRS’ a8l BEETES (A),
BoERd rao) (R)

BOFES (A) 1 DITBTIYRE OO TSR

@é’.);jo)@ﬁ Ko  DOeTSO
D IORT°DY wWeer ST L0

S6ST

83 (R). T ISrEsBQS rEoss

MG euEeTeio
0O IS" DB [OWD XTI ?
(A) A 0058, 5°0 R &%y
(B) A,RBocsr 5003059
(C) Ay, 520 R3Oa8s

(D) A,RBoc> &5y

SO FUYO TGO %3 TTORD exd esBIGHOG
a. S00To TR 1. 8ey

b. dedoo T 2. Zow

C. &0380 TQ 3. oo

d. S 8 GETB 4. 508005

(A) 1,4, 2580003 (B) 4,1, 3500050 2

(C) 4,3,2500am 1 (D) 3,4, 1508050 2

L
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65.

66.

67.

68.

69.

Match the following Articles of Constitution
of India by the provisions :

a. Article 15 1.
b. Article 16 2.

Equality of opportunity
Abolition of
untouchability

c. Article 17 3.
d. Article 19 4.

Freedom of speech etc.
Prohibition of
discrimination

(A) a-4,b-3,c-2,d-1

(B) a-3,b-4,c-2,d-1

(C) a-1,b-3,c-2,d-4

(D) a-4,b-1,c-2,d-3

Deconstruction is the concept of

(A) Foucault (B) Derrida

(C) Goffman (D) Jeffrey Alexander

In whose theory Actor- Structure duality is
emphasized ?

(A) Habermas (B) Luhman

(C) Anthony Giddens (D) Collins

Which perspective believes that the
ultimate objective of any theory should be
the emancipation of man from oppression
and exploitation ?
(A) Critical

(C) Functionalist

(B) Neo- functional
(D) Structuration

Identify the persons who were the Chairman
of Backward Classes Commission

1. K.M. Munshi 2. Kuppuswamy
3. B.P. Mandal 4. Kakasaheb Kalekar
(A) 1and 3 (B) 2and 3
(C) 3and 4 (D) 1and 4

65.

66.

67.

68.

POBTET N8 $od edEd) Ho0aks TeIEW
DDATTOE 23BHNDSV0Cs.

a. e§§§e§ 15 1. 35000 9S50

b. 055 16 2. wotiTdsio Ao
C. 958 17 3. TS nsodgo
d. Q§§§Q§ 19 4. QRER BIPRAT°E0

(A) a-4,b-3,c-2,d-1
(B) a-3,b-4,c-2,d-1
(C) a-1,b-3,¢c-2,d-4
(

D) a-4,b-1,c-2,d-3

AESES <) 5T 508 2
(A) s (B) cow
(C) oS (D) 20 edmrocd

D30 TR TS08® es5b-EHE woso IR
IEBG0d.

(A) 2205570
(C) o0& Agd,

(B) ors0d
(D) £%0&

@e3TDE S00aKw &G Hood STHS S0
IR0 QoY) OB ©F SO YOTOR) EHE)E0
D& 9

(A) &e356
(C) 505505

(B) a3 0558
(D) ©59058

69. 352D HENEIL SRS IO 0

Selaf)Voletnlele

1. KM.Sood) 2. S0

3. B.P.50od 4. 55085
(A) 1 506050 3 (B) 2 506050 3
(C) 3 50000 4 (D) 1 508050 4
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70.

Drug addiction is basically

(A) Physical dependence on the drugs

(B) Psychological dependence on the
drugs

(C) Social dependence on the drugs

(D) Physical and psychological
dependence on the drugs

Read the passage below and answer the
questions that follow (71-75)

Recognizing the importance of Health in
the process of economic and social
development and improving the quality of
life of the citizens, Government of India
has launched the NRHM to carryout
necessary architectural correction in the
basic health care delivery system. The
NRHM adopts a synergistic approach by
relating health to determinants of good
health viz. nutrition, sanitation, hygiene
and safe drinking water. It also aims at
mainstreaming the Indian systems of
medicine to facilitate health care.

The NRHM, a national effort at ensuing
effective health care was launched in
2005. The NRHM covers all the villages
through village based ASHA, who would
act as a link between health centres and
the villages. The ASHA would be trained
in sanitation, hygiene, contraception and
immunization to provide primary medical
care for diarrhea, minor injuries and fevers.
They would also deliver DOTS course and
oral rehydration, distribute folic acid tablets
and chloroquine to patients and alert
authorities to unusual outbreaks.

70. 50°CE (S 9590 R0 RHTEoT

(A) Td%orr, TOSEOT SIEE (U STEé
600

(B) SPH0E0T 50 (S eGrEG 6000

(C) TrioresSone SGE (37 U0 €060

(D) 7085050, SRS STES (SR
S50 96 €080

Eod TS0 VO TP BHOTH (DF)0L0
INVE AL Sleletwlcle:

ToE B0 e0Y €50 FOoB oS
50800 TS G0, 5 (BRI oD
05EcE08° 80 Ay, do¥ B> MRS
B e08s0 NRHM S0 00 esfingases
@oBOBEOS STOZH BTtned Dexdod. 500
SBT3 @IHCD FE eTECo FBH 0.
OB, R0GFH TIOAGD H063 0T 50, PB0
072 NRHM 6oy, 2500 oerons. B eren
UB0E08” 6By D557 Oty &ree eBryg
2050 @080BE0S” IVBTACEIK0EE. OF
o WNes wodotead e NRHM o
2005 20:58)008° 0o 28Rl (Fared”
ot ASHAw, (woress abNEomed
edonorrsorT Hot Acsore NRHM ersstisod’™)
) rIred” 000, J0HE 50, HODESS,
£0€0002) JATooEEy W) MPAITPOEd 500050
23070 (rEAE DBy Hoed ITes” ASHA
0% 356 SO0, D3 erea DOTS so0coen,
5650 §°6 0008 A3 oBoD D8, DO e
Bo0ak0 BT GBIy GTHT D LHT
S B0 Hoed SEyETHress ASHA
O DT

L

22

A-22-03 |




The general norm as decided under the TS0 D Do e .8 ASHA &y
rogramme is ‘one ASHA per 1000
Bopglation’, in tribal, hilly and degen areas, AB0 P, Bifed 9y Tes, Soties 0
the norm could be relaxed to one ASHA $0t3 @rozred® B8 HedoY FIT, &l I
per habitation, dependent on workload etc. rozS 2.5 ASHA 8559 2.8 263 Aamioso
71. N R H M stands for OO0,
(A) National Rural Health Management 71. NRH M i3y 55508
(B) Nat?onal Rural Health Mi.nisftry (A) 3958 5306 28 o065
© Natllonal Rural Health Mlsspn (B) 3558 650663?@_55)0(3@
(D) National Rural Health and Medical Care (C) D556 67562578 25
72. Which of the following adversely affects (D) 088 55w ol 5S35
?
th? heEaal:lrr]]g Nutritious food 72. 35 mdE BOETOOMT. HEPIBO0 B 907700 S08
. %36° DD 2
2. Lack of Sanitation
) 1. T8 @50 St
3. Open Defecation 5 j%%gcs "\
4. Polluted water ' R —
(A) 2,3and 4 (B) 1,2and 3 2- ?Sg;og’g OOV
(C) 1,2and 4 (D) 1,2,3and 4 (A) 2,3 50050 4 (B) 1, 2 550050 3
73. Of the following what are the Indian (C) 1, 2 So80%0 4 (D) 1, 2, 352800 4
systems of medicine ?
1. Ayurveda 2 Unani 73. ) 30b 0878 738 erodad esBrg H55ge0 92 9
3. Acupuncture 4. Homoeopathy 1. wondo 2. oo
(A) 1,2 and 4 (B) 1,3 and 4 3. wgioyh 4 Farsd
(C) 1,2and 3 (D) 1,2, 3and 4 (A) 1,2200104  (B) 1, 3500050 4
_ (C) 1,258a03 (D) 1,2, 3500050 4
74. Who is ASHA ?
(A) Assistant Social ~and - Health | 74. ASHA &od 256 2
Awareness Worker (A) e50e5 Fed wok rdenban 98,6
(B) Accredited Social Health Activist (B) ©BERE Faend g 3D
(C) Assistant of Social and Health Action (C) 3065 esp FPokd wok wd D85S
(D) Active Social and Health Assistant (D) es3s Fadd eoks 2g enoe]
75. Match the following diseases and their | 75, 208 5¢36%) oo $o00%0 T3 D388
treatment 23555500,
a. Malaria 1. Oral rehydration a. 58005 1. 858 BTE5S
b. Anemia 2. DOTS course b CS;%%@ 2 DOTS 25085000
C. - Tuberculosis 3. Chloroquine c. 58 3.£6°%S
d._ Diarrhea 4. Folic acid tablets d. 90%=een 4. D8 56 5B
(A) a-3,b-1,c-4,d-2 (A) a-3,b-1,c-4,d-2
(B) a-3,b-4,¢-2,d-1 (B) a-3,b-4,c-2,d-1
(C) a-2,b-3,c-4,d-1 (C) a-2,b-3,c-4,d-1
(D) a-3,b-2,c-1,d-4 (D) a-3,b-2,c-1,d-4
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